WP gD @éﬂ’&’ﬁ glw P92

&ggél@%jgé}



Iyl o



3 "

of a circuit is the sum of

Question 1:
 with other sources

By superposition, the current
currents caused by each source .-

in any element

propetly removed— ﬂr"..—-*!-" .
B e Bl ) efscive
sia4bof 55 1) appropriately +2) Sdividually  3) deliberately ) e ely
U |
[t sl

q“esﬁun 1: f#‘?..‘lj"'-"r' -'.l;'lr“" J;.J‘L:;L—"
The jnduc:a’;él of a sti!emthd depends on its dlmensmns and the

.................. of the core material. - e it
ANSWers, e,k Ll bl el 4_{
/1 peﬂ edbility  2) susc:pnh:hty 3) pE:l'l]llthT}" susceptance

Question 3;. ., pm e =
The mmzatmn of the gas Ir in a fluorescent lamp can Cause ...............

noise in a radio ra:mﬁt

Answer:, ;> u..sw«'.r'rf?' gl alay sty
1) thermal 2) crosstalk  +4) interference  4) intermodulation
Question 4:
It should be realized that there are some things computers simply cannot
do; t]:lal is, they have some ._................ limitations
Answer; 1;1; 145 ahas| |
. .L [l '1:_._._-.-[.'.!- ¥
v1) inherent 2) operational  3) individual 4) computational
Question 5: .
An antenna is a devi
E evice that .. ... +ooooooo. tlectromagnetic energy 1nto
Answer: e e .
f;-"-"“-’"..ﬁ-’ L"'.l".,-:_‘,:i.'!..-:l "':"LEJ Lm,-,.l.ll

1) Biverts 2) peniérates 3} receives ,fa:l} radiates
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rcuit breaker is a deyice th -

A piveuit Bl o e at automat

L‘fé't_';[{[;;“.’-ﬂt load Epnd:i:_tﬁs exist. ;J_E__‘d”‘:ﬂll}- e .. When
ANSYWELG L=, cous 0Lk mn

Wy ? N s i - -
ks 2) in R ey

{ytrea ) ) interrupts #'3) breaks down a4 'tf'-i’?:d -

Question 7 =

In a control system a form of .

e
the control element. e vreane,. )

) Lfa:-:?"’-"{.‘“
eiror signal is applied ta
- "'.'rﬂ'-r a, - 1- K -.J_—FF.-F -

ARSWErS ol o o Y ) S
1) accompanying 2§ acceptimg 3) actuating

cDMPREfE.-%HSIQHr{fJeF | gl i

In paramm _mgrﬁlp ifiers the signal is applied to a reactive d:n::nt
whose value is vaned by anc-ll?jg%.gxtfr&nﬂ AC source called the “E-'ii?r'n'p"
It can be shown that the reSulung Vafidtion. of Sforéd efermy in. the
reactive element’ eénhancés’ the signal,

T
il LT
4) accountabie

enha » A mechanical model for Sueh an ey
amplifier wgye%%m Ghe in Sf-h'c.:} the plates of a cimac P ——

ey =

3 GApaciior are separated-
and. then r 1o their original position peﬁ‘ﬁ%?ﬁﬁfy, Ltyﬁﬁ%ﬁﬁﬂ%iﬁg a
;ha:n;g'&:n the vug_ulf__gt_‘ !‘nh-E ca pam&ggg. A. SEt’mJ.E_a_II ;’l:s:.él} is oblainéd by the
actign of the “punip™source. Du® 1o their inhifent 1&w Aoise. parametric
amplifiers have widespread applications in sensitive satellite receivers.
oy tyFam B N e Rl T
Question 8:

In a parametric amplifier signal enhancement can be obtained by

Answer:

1) WVanation of stored energy in the external “pump” source.

2) Variation of the signal frequency by the “pump” source.
-3) Chafiging the inductance of a coil in the circuit.

4) Amplifying the enhanced signal. il

Question 9: vige=l k]
Thﬁ'wgrd .qparametﬁcﬂ pTDh‘ﬂb‘T ‘['-EfElfi 10 lhE Fﬂ.l:t 'I'J:I.at
Answer: ==

1} Both electrical and mechamcal parameters are m".n'l;id-
2) The system can be described by a Fﬂfﬂmﬂﬂge'q"ﬂn
3) Some parameters of the system are erﬂmﬂFfln-vnm
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Question 10: N Vot
In a parametric amplifier it 15 e8¢ tial to have
Answer:

1) a capacitor with separable plates.

2) any kind of capacitor. R ;
/1) transfer of energy from the “pump to the reactive element,

4) an enhanced signal at the input.

uwestion 112 5. <.
an line 5, "rt??umf‘ refers to
Answer:
¢1) Some mechanical action.
2) Discharging the capacitor,
3) Reduciog the charge to zero.
4) Charging the capacitor again.
Vi
Question 12; vl
Parametric amplifiers are used in satellite receivers since
Answer: (-5,
1) They pick up less noise from the atmosphere.
2} Their frequency band is widespread.
+3) They produce less noise internally.
4) They have widespread applications
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e Rail transportation, aslb_h aw it today, is on the thrcshu]d,y?f a major
[EvOl uh:m. For the past ﬂfuc%r}: major railroad (Inovations have

-="B&H Hunirnal. ;Emmt has be widafed and th[c"muéfs served ; are,

. in Emera] IT'L lered. Major Lij;s iﬁl p’uﬁdjatmn have Scctirred in the

. Nu"w:?‘ég"‘ ::-E 1u:m: and tently, present f8ilroad networks cannot
Tﬂqlﬂrﬁd Dt_thtﬂ] Urﬁr{‘r ':‘rl!)“r] oy "-P_.l J"tLrlr'

A major effort v oW undqﬂp}r to revitalize the entire rail
lrampuﬁatmn system all over th& nation. New W routes are eing le hiied

which will provide mammu sep:ce to the pubh-:; In aflé‘!dumn, modern

systems techniques are Ee!j:_lg applied to these rail systems for efficient

operation in an optifiim fAnner.

Let u§”tnsider a model of g modern rail transportation system and

#pply design techniques utilizing queueing theory. In a rail transportation

|:-|1|’.':"-:'jl"£:|-‘.&"" {‘—"‘"P.J}"'J 1_:;4_1-":#
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ueueing . racterial: Doz, r-
sj'St_Q'i":]'g Eehiclrﬁ:ﬂ%?é?!l?rﬂ?!?nsht‘-& 1ak'::sl /{(;:I th ] il
riv Fefers 1c e T
Ar "y e Ent.h_‘?_.ﬁf_"ﬂ!ns which arr r":"!lm.-..-mg meaning;
A

- ¥ 5 » -
services thern: THe servite Ficility can arrive at a Faciliy '
time is thﬂf'fl.-lwe required to prd;’?gé':: :‘Slatmn or a terminm}' which
migl}t,_g-.'% _bmsf of thfe time for a train [D“]léal_,&-ce :jo a.pgrticular train This
or freight at a station. Waiting time is the ti::un unload passéfigers and /
rain must wait -g_,?gde'rfa be serviced. me duration that an arriving oywe
In order Q. Apply queucing sheory, it is =
passenger or fr;lght density "?{stﬁﬁlﬁign at e
function of the time of day. Therefore, a determinatj
to which queueing equations are to be applied to th on may be made as
icular time - O the system model at a
partlcu ar t1 - = alle :
+ is usually, desired to minimi e : . A
o Eﬂ'}l;l_li the di miimize waiting time and provide adequate '
sery Eﬁ”t.ﬁ' andle the iSf:l'IblltlﬂrlS ,of passengers or freight. This can be
o¥ccéomplished in an optimum: mafiner by having the central control
computer determine h__&a_,?fa'i?; and train speeds In this model, the
Central Crc:-_ntrcl Computer re_n.;_g:,ivea information from the Wayside
Control Unit E:Ir,_g-ncgf {Eﬁjtr?f?riﬁ?:u&eﬁ_ﬁtalion Control Unit, and Terminal
Control Unit. AccumLt__ﬁ:I,ﬁ'!opltonng of the train speed and position,
therﬁf?rﬁ*, is ﬂbtamed._ Updated speed and head way control information
is sént ack to the various control units in order to control the train.
A completely automated rail systngﬁ?c_&%p;s_.EE@ﬁ;gnds from the
Automatic Train Control Computer and - implements™ the computer__. .
CEEFII.}EEPES- S_qu séparation, position, and ;g;sd;;jongﬁ%g,ggucluse]ﬂr :

mAhitoied. In addition, the ability of the train to react is” ifitegrated in to_
the automatic control of the train system. The load weight of the trais fig; L
monitored aﬂgr;jﬂeaving each station in order to I_nodulate its .br dRE” f.0 7
force. With l'each,” train in the system hawving a simila{ A:utomau-: ITrzun L
Control Computer, it is possible to control each train in an optumum

manner from the Central Control Computer.

. Uup o i
Imperative to know the
ach service facility as a

Question 13:

Over the past fifty years,

Answer: . :

. 1) Major railroad system innovations ha‘::dachl

2) Shifts in equipment usase have nc-::lr;lr L A

#33 Routes which the rail system serve 'n:ff'ec[i‘ue e
4) Population redistribution has led to

.......................
.....................

eved.

pnetworks.



Question 14:

Service time consists Of the time .. ......ovvrvererirri,

Answer: O, '
JFor passengers to get on and off board and for cargo to be boarded
2) For a train to travel between two stations. |
3) For the driver to eat some food in the station.
4) A train has to wait to be serviced.

Question 15:
In a completely automated rail SyStem ...............ooovnnen

Answer:
1) Each train has an Automatic Train Control Computer.

2) The é‘ﬁﬁ‘fﬁ of the train tn;%‘ﬁ’éff{ﬁgilt into the control of the train
L&) Both answers 1 and 2 are true.
4) Neither of the above are trué.
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Accepting
Accompanying
Accountable
Actuating
Appropriatly

' Breaks down
| Crosstalk

| Deliberately

| Inherent

- Intermodulation
| Interrupts

| Noise
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Enhencement
Inductance
Parametric amplifier
F.eactive element
Transfer

Widspread

Accomplished
Accurate
Adequate
Beaded

Board up
Boarder
Boarding school
Breaking force
“Can not meet the deman
Cargo
Characteristics
Commonds
Consequently
Density distribution
Discovery
Efficient
Equipment
Facility (ies)
Freight

Function

Go on board
Head water
Headway

Imperative
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Major

Major effnrts_

3 Major revolution
| Modulate

| ponitorng

| Network

. Queneing theory
React
. Required
Revitalize
. Revival
Revive
Revocable
Routs - -
Threshold
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Choose the correct answer, Only one answer is. correct.
“T have been looking for this office since I arrived at the station. It (1)

S — be in the main street. ] (2) —====-=-=—=- me a hotel please
“Certainly, sir. But you (3} ===z S0 far. If you'd turned lefi g
the station, you (4) ===--=-===-=- it straightaway. Now, (5) -=----=e-evn. s

if we can find you something suitable?”
“I only want a room for one night but I can’t stand sleeping in noisy

rooms.”

«All the hotels here are near the main road. You (6) ------- come home
with me, sir. You'll be more comfortable. In fact, when you (7) —=---- my
wife’s cooking, you'll realise you (8) ~==-mv have come to a better place.”

R Lj?iL.au_!.;fJf:?sz}-}{ }3;:__ - N
1) has to 2) should 3) ought 4) must =
2-
1) would like you finding 2) am waiting you to find
3) would like that you find /4) would like you to find
- 4
1) didn’t need to walk 2) mustn’t have walked
/3) needn’t have walked 4) weren't to walk
4. ;
¥ 1) would have found + 2) had found
3) should have found 4) would find
5- : |
‘1) let’s go 2) are we going to 3) will we 4) shall we
6 o5

1) had rather - /2) would better 3) had better 4) would rather
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1--l1_|il-|_n5‘tﬂ- 20 will taste 3) shan -
- k
] 5 A5t 4 il be tasting
| H-' g -:l I'I'l-i-gh-t not '
1) can -kt
- ) Conale]yy
morrow All 15 going back 1o Shira.s : ]
! ?“I:-{{d‘idn-{ .I:[!'ll:lw h'c—l ________ s Faz oy 3
' would have decided w leave 9y 4. .
;:]llllﬁad already decided to leave 4'.1:' ‘-1;115 d'?;-mg :; '{ﬁa\-:
== SENE

Fpehas ] -
f the milk tumed sour bef et i s
jg- Sorme © ore reacking the g
; ast throw T
1) ronas ) st be throwe
W
| .3)had to throw 4 had to be thrown
| . - T w13 L=
11- Some SCIENNSIS say 1l 18 essential that ki 8
| amount of air pollution in big cities. = == the

e

ill'rd. e

J——

| Dreduccd | 2} be reduced - AT redue i
| 12- “Mr. Taheri 15 Wery dominebnng person™ S e
] know'. Even before he greeted the hastess

e thie window,” be asked her if she would

1};"&1.?1111 closing 2) have minded closing
3 mind to closc i 4} have minded 1o cloze

13- Hardly ever —--—-veea- —=— get a good job these days without a goc
cducation.

1) have people 2) people might  3) do people "‘-‘{} people can

14-"It is the second time he has broken a dish.™, £, .
| “Btrictly ----— ————- , he ought to be punishred.”
| 1) speak 2) spoken | ) speaking 4 to speak

| 13- *What did the mother do?”
| Cheee o genily on its bed.”
A} laid the sleeping baby 7} lay the baky
3) laid the baby slecping 4) has lain the baby
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16 “Did vou finish the algebra assignment?"

Mo, it was very difficult, ... 1 had a headache. T u )
17 still Z) however ] 'b-l:'.:jldﬂ £ E'Dﬂ]agqu:n.l:r
"Jll::l‘:ll-'_; -l'f“""""' .|Iq.\_.-'p..|.\_l| i I-\.'\-'I...._ =
17- What a big contrast there is between -—-—=s========= -,

13 Japan today and Jfapan a hundred vears ago.
#3) the Japan of today and the Japan of hundred years ago.
3) today's Japan and Japan of o hundred years ago.

4) Japan modern and ancient.

r '\."r uy L II

12- T snppeiad That He e —— legal advice on his affairs.

1) take 2y wouldtake  I)takes u - 4) had taken
g+ U

19- "Hawve you found an apartrment yet?"”

“No, we need such —-—------——-—- space that all the apartments we'ye
seen are Lo EKFI'H:I.E-J‘-"C
13 too much Ejagreatma.n}' -3'!“1 e amount of 4) how much

20- A capera takes the lig 1,{ hi.ﬁ"nuﬁ? suh'ifm .........
andf'n:usvzsﬂmuan shéef of film for an ins P
1) photographing 2) h-:l:n phul:ugmph:d g ;U..:,.

3) having photographed «4) being photographed
21 The author of the n:pﬂrt is well with the pmhl.e:m:. in
¥ Emgrb-:: %ﬂ_ﬁ}%g.fcrg‘mnymrg et
e Ui"‘i@&ﬁm 1}m ised Hm
.J.l'-_:__,_—F"

22- You can't _E_' ----- a fact easily unless you have ennu;gh
mfm:%:t!pnmu: gﬂmf t SR e OV T,
““1ypa W blish 3 estimate 4) predict”

L
L =1} Hoat=T
P X TR | I — of electronic research lies mrfr?:E:Lg electrons from
llmrammsmdmm]hngmmf .._,__
Vaik,
1) function 2) position mﬁfﬂ?ﬁ 4} |mre§hgu.tmn
3“'$m3’l}n=¢lsemldﬂ&dmlhean¢idmlwasmuunlynnetu ------ .
) survive 2) relicye 3) alive 4} outlive
i
l-#:-IIL.Ip- - I'.2"I u*;ﬂ.u'* =l urj

7 l-'“‘“'h-ﬁ-'
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Plans have also been studied for high--altitudc satelli_tes as much ag
22,000 miles off in space, but there are still problems with these. Some
way must be found to fix satellites in a firm position so that they wij

always be “on station.”™ o ' )
29- According to the passage, overland television is carried by --—-——____ .
1) underground cables 2) sky towers
4) telegraph lines

+3) relay towers

30- Overseas television is now carried by _
2) space stations

satellites
3) undersea cables 4) relay towers
31- Whether overland or overseas, televisions signals need to be
«1) amplified 2) weakened 3) curved 4) straightened

32- The overseas system possible today would be plac
1) Below 5000 miles in space.
2) About 20,000 miles off in space.

3) Over 8000 miles in space.
+4) From about 5000 to 8000 miles in space.

33- One advance possible by this system is given as
1) internationally shared weather forecasts
2) high- speed interchange on market affairs
+3) in‘ernationally shared television broadcasts.
4) rapid transmission of military information.

34- According to the passage, a problem facing the planners of a high
altitude system is a
1) Doubt about the size of units needed.

«2) Way of keeping its units in place.
3) Lack of information about microwave transmission.
4) Shortage of properly trained technicians.

35- Implied but not stated:
“T) Traveling a great distance weakens a microwave.
2) According to the scientists the problem of high- altitude satellites

have been solved.
3) A system about fifty satellite would not cover man’s present needs.

4) Microwaves travel in straight line.
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Part (I)

In the following check the word or phrase you believe is nearest iy
meaning to the given word.

C”)"“hh&ﬂ 1- DJTR]CA[E _.P_,..: et} I.. 'F"_{:_-..,: Haas
1) indicate™ 2) tricky ), mmp‘[mated 4) rugged
b ENHANCE: . (oatpuins cnistin e D7,
#1 ﬁﬁtcnﬂify 2) speci 3) signify 4) purify
RevEY CONCENTRIC: |
1) E}"[EIJ_IIE[I‘IB 2) 1in the same units
3) ecééntie’ : 4 )with common center
gy 4- ORIENTATION: | I, 75 i
. 1) cdnfiision 2) d]:ﬁ&mn *3) eastern 4) composition
LA, 2 5- NOMENCLATURE: I e
1) arts.and ac.lentes 2) ancient ﬂﬂtuitw
3) foreclosure” va) temm‘miog}f -

Y Lguﬁ DEPI_.I:TL l_&b:u,. . el
(feothbine /2) empty }neutraﬂze 4y incomplete

2P 1- DISMANTLE; -~ R AL

1) fa¥e to ptg'cféis“ 2) dmminaﬂmﬂgﬁn LL-
;x 3) connect together 4) assimifate
W47 j\ix> 8- DETATCHMENT: QRN L‘.|;,,,

e et L
,I-ji;’vtway-mwmun WG ele (€ s ¢ S

v 1) t:stabhsﬁiﬂ'em 2) insertion 3) fee ~ /4) insight Cm"'
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15- COMPATIBLE: - P .
&) agteeable ; 2) remarkabie 3) suitable 4) sensible
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l6- AVAILABLE: 702222 S NSRRI, TS C R
1) favnr)-ﬁ 2'} audl'l::la 3) reliable »4) accessible
o |8 oy i1
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Part (II)
In the following sentences choose the best word that complctes the

sentence.
23- In solving a circuit problem the directions of the currents are chosen

""'L — d..:frﬂi,jl r a8 s o \_,a--L [.,_‘.5.‘1_., -
lf1 ncun'ently ) arbitrarily 3j SPCC'fCE’-"}’ 4] improperly

u J
24- Power tra.nsmlssmn lmes da}f 515['\3 large =:lb stnnct:s makmg them
OLE_=-=-s-- to externa ced voltages. ;. ., JL—; L
J4t VI ) su;cepnble 2)e é‘”’H?ib 3)'reliable oy A t:-::-mpauble

t_{.r{i-’” .f__-:—,r-'-‘
25- Although the idea exﬁi‘essed in the ﬂ'teur}' ‘seems. p? ﬁsuble it has yet

to be —----- e‘kpenmentaﬂy :
1) expressed 2) provided 33}]:)1‘0(:&55:::[ -/ 4) verified
1LH_,_ c-u-L__',. ] * L
26- In_clocks, m?rked “Quanz” a cnfstal controlled oscnllator ______________

(e L-»J?Opbmurt_lfﬂ Couraty.
) en%éfeﬁ 2] depi 5 2 3) operates 4) functions
l{_} [‘L_ql it b by | -
27- The sclcnhs{f’ was . a ‘.'Férded a me d&l} for his g to the

fundariental under rs’ffmdm_gﬁﬂsulagg,pud&ﬁﬁ,rs (J;,.a_,s,, =S
1) basn: é} contribiitio 3) hon& 4) prnhlbltmn

||'-:_: 1 ([_r _-.J 1=

~ Part (1IT)
Comprehension
Read the following passages and answer questlons 29 through 32.

A news item in a recent issue of IEEE Spectrum magazine describes
an experimental car named Impact, made by General Motors Co., that
challenges the notion that such vehicles are slow, sluggish and otherwise
unfit for widespread use. The Impact accelerates from 0 to 100 km/hr in -
8 seconds and its maximum speed is 160 km/hr.
- For this car a specigl compact battery was developed so as to
minimize the size of the storage tunnel inside the passenger
compartment. Still, battery life and its energy density leaves something to
be desired. The battery propel the Impact nearly 200 km between charges
but mainly because of the cars special aerodynamic shape and light
weight of 1000 kg, including the battery.

The car has an all solid state converter circuit which converts AC from
ordinary house current to DC for charging the battery. :



: o main subject of the aboye pﬁm

| 4. Th fthe art in electy;
18 e stalc 0 o . - T car dey,
! FJ: ending battery life in electri Cﬂrs.eiopmml'
4 Using solid s_tale Clreults in elecyrje Cars
,J;il Using induction motors in electrje cars, L
| .is implied in the passage that the Impacy is
29- “510“’—' sluggish and expensive.
B L]?f: Unfit for TidES_ﬁ]rEﬂd use by genera] public,
Cgmparab € WIth conventional carg jp speed ang :
#ﬁ yniversally accepted as better alternative 1o ccm-::::{?:;lnn.
cars.

The battery used in the Impact
ﬂ'l weight as much as the car itself
gtill needs further improvement.
7) ghould be charged at spet?ial stations.
4) Can be discharged by ordinary house current.

31- In the Impact the battery is placed

1)in front of the car
,&) in the middle of the car

2) at the back of the car
4) in an ordinary house

32- The Impact can run 200 km without recharging mainly because
1) the batteries are rechargeable
-2} the car is lightweight and has low wind resistance
3} it can accelerate from 0 to 100 kmv/hr in 8 seconds

4) the car is slow, sluggish and expensive

Part TV : '
It is only the variations in a radio signal which are meaningful to a

erson receiving the signal. A constant, unchanging electromagetic

“ave conveys no information whatever to the listener. In order that some

mformation be transmitted the amplitude, frequency of phase of thf r:dm

"&e must be varied in some manner. Any such variation of the wavz [0

"Press information is called modulation. 1 S
.. [he only kind of signal that is confined to a single ﬁ‘fﬁfliﬂ:zrid';

“hich s purely sinusoidal in waveform and whilch is mtdbem; ]
| dny Manner, Any time a modulating variation is impressed upo



frequencies other than the original ﬁ'equency_wﬂl be produced in (he
process of modulation. In particular, frequencics equal to the.:s,um and
difference of the radio signal and the modulation freqt{enqxes wE_l appear
in the radiated energy. The original, mmudula.ted radio signal is !.mm""“
as the carrier and the additional signals ":‘Fhlﬂh are gcnerated.m ﬂt.e
modulation process are called sidebands. Flg_. 1 shows the: l'ﬁlﬂtlf.rlllSl'l]'p
between the carrier and sideband frequencies of a carrier which is
modulated in amplitude by a signal audio tone. _In ng. 1 {a.), we see the
actual waveform of the modulated carrier, and in Fig (b), its frequency
spectrum. By “frequency spectrum” , a graph Df_ amplitude versus
frequency is meant. This is what we would .obscrve_lf we were (0 tune
across the signal with very sharply selective receiver. If the carrier
frequency is 560 KHz and the modulating frequ_enc}' is 1,000 cycles (1
KHz), we will find the frequency of the lower sideband to be 5.59 KHz
and that of the upper sideband to be 561 KHz. The lower-sideband
frequency is the difference between 1 and 560, and the upper-sideband
frequency is the sum of 1 and 560.

time

l{b}
| 1 | -

~%  carler "\.‘ frequenty

lower sideband upper sideband

Fig. 1 An AM Signal and its frequency spectrum.

33- The sideband in AM are equal to
1) the sum of the modulated frequencies.
2) the sum and difference of the radio signals.
43) the sum and difference of the radio signal and the modulation
frequency. _
4) overmodulation plus or minus the sidebands.

34- Amplitude modulation increases the

1) current of the signal 2) power of the signal
3) bandwidth of the signal +4) frequency



35- In an AM modulated wave,_

Pl =y Em— =
e e S

e

g

—

' 1) the total frequency spectrum is always the same.

2y the bandwidth is proportional to the frequency
being impressed on the carrier.

3) the power outpul increases as the fre

of the information
4) i1s increased.

guency of the modulating wave
146- Frequency spectrum is

1) a graph of frequency versus time
2) a graph of amplitude versus time
Y a graph of amplitude versus frequency
4) a graph of frequency versus frequency

37- Carrier is

1) the additional signal that is generated in the modulation process.
. 27 the initial unmodulated signal.

3) the same as the modulating signal.

4) none of the above.

38- Any variation of the wave to impress information
“) is called modulation

2} is called amplification
3) happens when opening a circuit
4) is due to noise in the circuit

39- Modulation produces

1) extra amplification of the signal

2) reduction in the amplitude of the carrier wave

2y frequencies other than the signal frequency
4) unwanted signals

40- The lower side-band frequency is

1) the difference between carrier and the upper side.
12y the difference between carrier and the modulating
frequencies.

3) one half of the carrier frequency.

4) the sum of the carrier and the modulating frequencies.

signz
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PART A.

VOCABULARY I e e

In each sentence of this section, a word or phrase is underlineq Below
each sentence are four other wurds or phrases. You are to choose the one
word or phrase whmh -would best keep the meaning of the original
sentence if it were subssntutcd for the underlined word,

HA S0 ‘.1...,

i
1- Sigmaplot 4. is efegam and casy to use in all engineering ﬁelds
L*’ _,Wlﬂ;l its ‘].J'ﬁq;m memu ip E qc:e ) _g and keyboard qupport,
ufl:-’..l “tuLf"': 'ﬁ-nm flﬁg EI;:nc‘] ﬁllfﬁf:-ntexti ﬁu‘e nelp. N
(5 eiql.um e *7)rude— 3) pretentious ) crude

}I'ﬁil‘-

2- A - laser Pointer allows you to point at anything from a distance in

st Virtually any, light conditions. i LES

1) perfect!'}' 2) forma mally 3) absolutely .47 practically

,r.mg.l ;...-—(,*HH ey g L
3-_The .more senior engineers havc ah:e:»,ldj,,r est,abhshed their
2 liny eptiiation in lmfelof e %ﬂ rit s Ul {,.:s'f{s__m
oner=f=c e 1) dishonour ¢ gment 3) fame 4) abasement
L-»*' diShoner

I‘|J.i' £o # Il'q—
tis T CU""’L»LJ)J‘ el
3]0 these days, tethndlo kT

! gu:al mm::-vatlm&, is to occur at at all, then
E{ entluntﬁ i ?EmE

t sufficfe nt
Seu, 5 s
’5?[‘ ‘;_’.]_,ljjj—ﬂppllan\!:&i) 2)re IE‘.S

3) u'eatmcnts 4) divisions
rsees b e L e

S flr=
J- The quest fm umovatmn and excelléﬁjge Jhas always been the
,‘h_,JlJ_‘tf-:" driving force behind engmﬂ & Y

tring {searcl Work. 5
32 »?' 1) discouragement tfn”--fui- 2) motivation = s

3) oppression J[,,,J r_—' rib 4) humiliation z::-’ﬁ""ﬂ"—f,.‘?"j;



. i A 11 ] 'FI]C' i
'é§-=-—-—-|1.-|r{.lr-ll-,j Lj)/;’-
(o
' g- It would be fair to pre; {me that

any of the
clectronic gear origigated ifrJap ﬂl’ / e f_‘fieﬁfﬂ 0 the
| 1) delac ved mtens“é ¥ 2) dwred Iem]:ll’ﬂcaﬁy
,3) fixed ﬂrmf}r r — 4) separated designedly
G tpZ 3555053 ‘-*‘J,a;—f*b
| 7. The globa] &rva';fveness of‘ tec

tec hnology today requires erir?:-ﬁ nor‘:"lf.:'
| 1) avmlableness 255 co‘ﬁés cness 3} an#]ll'lI'lCSS ‘ctenm\mn'é'ss
i LY o J__.-—" ,._:': 'I.-r— - "'.-“' L S E- (J vt ﬂ...—r ey yagy i .
| g- Most of today’s so

ph:sucated mtssﬂe §ystems rely on optical or
infrared SeNsors, (microprocessors and even

sorS video cameras) in

addition totinfricale guidance system.

1) mtoned _~ 2) preserved 35 com]iﬁ ’(:"d 4) disrated
d.l-;',.rL- ‘Jzﬂ{j'l‘*

0- Constlluencms of sc:entlsjs and engl pclmcmn_s and
| govcnﬁﬁént uff'; cials argi®@ g F‘ﬁzszarefz nn’%aﬁ

behalf of their own
; needs.
1) in harsh manner -%‘fin distinct words
3) in conformity

4) in general terms

10-, The. CT {25;'-’

o L

iputer mmograph‘f'} scanners were not designed to
n-uhtalj,_r specification for field deploymend=™ . ST
1‘)?'601{ SpicuGus t 2) dxsarra}r 3) release ' -4‘j_' arrangement
VOCABLARY NI (
Read the following sentences and choose the bcst word that completes
the sentence. Yy »+ Ty 3y
11- A periodic wave ., such as a Square wave can be broken into its
............ sine wayes. o barzad | L I T
¥Y sinusoidal "3y constituent

3) fundamiental 4) compliment

12- This subroutine plots the frequency response of an amplifier for a
---... set of parameters.

wles L P
1) described 2) inscribed 13‘5 prescnbcd 4) subscribed

13- Although the theoretical problems of the i‘usmn reactor has been

solved, its practical implementation is a major technological .........
1) neuclear reactor _ 2) break-up

, sy ey
3) power plant (2, ) challengg,)"}=~ Sing g, )

¥ it St T bl e s
c il
e lma s L —————



: synthesiz
14- Professional models of radio receivers ........ a frequency synt er.

7
for extra stability. B U} i r:go i,p b ga;-é {Ls_lf
1) are mixed 2) demodulate - 3) modulate

15- In FM, the frequency discriminator provides a better signal to noise

; ..... against other interfering_ si _gpa]'s. ;
653 a3 +r1%tzjoi::-?mai1§:tian?ner - & 2) :anhancementubuu !a_;‘ll,;:; : oande!
U4+ 3) detection 4) intacference . Ay
S e o
16 To be ++35i2:s, WVith printed circuits miniature tuned transformers had
to be manufactured. ‘ e, },, ot
1) comparable  2) conventional . et =
V5Ls »3) compatible * 4) comprehensive, | o i
. 17- A simple transformer consists of two separateToils of wire ..., .
2oL lose to each other. .
- 1) wemgdﬁ*’m.’ﬁ';{—:j 2) insulated PG
3) pamhed{jjs"c_aarct;ujw’ ,Ai)’msta.lled L:J_fJT"';-- o
T :
v o .. 18- You can’t ......... a fact easily :iﬁﬂess you have enough infonnatihgn
b O emi g the fact. :;;};,'_,g,L pna Uyt U250 (ape
' 1) patente™! establish *  3) predict 4) estimate
Cancerng N E"—'!/f
19- The ......... of electronic research lies in sefting free electrons from
their atoms and controlling them for various purposes. (+5 a5
1) function 2) position A3) groundwork ~ 4) investigation
€ -
L"f;jd‘mlﬂriyﬂ;'ﬂw.l‘ty}@‘j@;r ...... in cable ctﬁﬁ’stt-'mpét‘inon_, i

u[,‘ils.ﬂow-l-"igs.sﬁble to transmit

piulasths 8 Temerddus number of telephone conyals ionsaldng a single cable.
CaC s 1) adjuspnents 2) purifications 3]_classiﬁg_at.io s ﬁ«)/ re ments

el Chpss e ook

PART B. COMPREHENSION L.

Read the pPassages and answer

circuits, produced phot

logistics of disnat hine (F the course but the
Ol dispatching them throu hout the ¢ ing,
Hence the book Was produced. g ountry was daunting



St ey W
. . " - —
The author tries to sjt on thg fence dividing TIEOTOUS pProof reqy:
advanced mathematics on one side, and a genera) equiring
the other side. Thus the mathegnay
3xacl_ing.

Where there are different technical e end
the treatment ensures that the inte clearly shown_ Fg:-
instance, various modulatio Ues are compared angd contrasted .

The author feels mdebtffd 1Q his colleagues for reading the manuscript.
It was comfﬂrtlng to have il pass through such competent b

means of achieving the sam
rrelations are

21- The above passage is
1) out the best method

2) a communication cj
3} excerpts from the p
4) about the daunting

of teaching communication circuits,
rcuits course outline.

reface of a book.

logistics of dispatching,
22-Inline 9 , “interrelations™ refers to

1) different goals achieved
2) different meth

37 comparin

ods of achieving a goal
4) ends of a

g and contrasting of ends

chievement

23- The author prefers
1) a method whereby most relationships are derived rigorously
2) an intuitive apporoach.

3) an experimental approach.
+%) none of the above,

24-Inline 7, exacting means
1) demanding ; ’*’f} accurate
3) comprehensive = 4) straight-forward
25-The “competent hands”

referred to in line 12 are those of
1) the university departments.
2) the publishers -

3) persons reading the published book
«4) other teachers



CDWREHESIGN l}: science have expanded, two main 1BT‘C"-“PSI_ﬁf
As 111eh hﬂn::-}c:;g:d One is the pure scientist; the other, the applied
scientists have -
selentist. : ientist does original research in order (o
The pure or theorctical scientist overn our world. The applied
LinsSrgc mf bfhs;; E;i;gg:?;epl?a?ﬁ%al problems. Neither is more
.smsziziuf c:;i: the other, however, for the two groups are very much
1Im
relfgz;i[.leﬁmcs’ however, the applied scientist ﬁndsﬁ the problems for the
; ientist t k on. Let’s take a particular problem of the
theoretical scientist to wor
aircraft industry: heatresistant metals. Many of the I'Fiela1§ and alloys
which perform satisfactorily in a car cannot be I_Jsecl In a jet-propelled
plane. New alloys must be used, because jet engine operates at
higher temperature than an automobile eng
turbojet must withstand temperatures as hi
so aircraft designers had to turn
development of metals and allo

a much
ine. The turbine whee] in a

gh as 1,600 degrees Farenheit,
the research metallurgist for. the

ys that would do the job in jet-propelled
planes. _
Dividing scientists into two groups-pure and applied- is only one
broad way of classifying them, howey

er, when scientific knowledge was
very limited, there was no need for men to specialize. Today, with the
great body of scientific knowledge, scientists specialize in many different
fields. Within each field. there is even f

urther subdivision. And » with
finer and finer subdivisip i

0o one branch is entj
others. Many new specialti

-geophysics and bi
have resulted from combining the knowledge o

26- The applied scientist

ractical problems
27-1In the example given,

. the aircrafi desi
applied scientjst 8ner represents the

' . 2 c .
non-scientist ) pure scientist

4) skilled mechanic



®A
8- Concerning the relative ;
’ writer thi nki that PRtive importae of pite and applied scientists, the
1) applied scientists are more important
2) pure scientists arc more important
3) neither are important
&) both are equally important

29- The example given in the third paragraph illustrates how
1) pure science operates independently of applied science
2) the applied scientist discovers the basic laws of nature
3) applied science defines all the arcas in which basic Tesearch is done
A applied science suggests problems for the basic scientist,

30- “The horizans of science have expanded” means that
1) scientists can see furlher out into space
+2) science has developed more fields of endeavor
3) the horizon changes size from year to year
4) scicntists have made a machine for enlarging the horizon
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